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QUESTION 1

A customer currently owns a z13s. The customer decides to purchase a z14 ZR1 and connect it to the z13s in a Parallel
Sysplex. The two IBM Z machines will be 200 meters apart. 

Which sysplex connectivity proposal is correct? 

A. Add ICA SR links to the z13s and order ICA SR on the z14 ZR1. 

B. Add IFB 1X links to the z13s and order CE LR links on the z14 ZR1. 

C. Add IFB 1X links to the z13s and order IFB 1X links on the z14 ZR1. 

D. Add CE LR links to the z13s and order CE LR links on the z14 ZR1. 

Correct Answer: B 

 

QUESTION 2

A customer wants to replace two zEC12 processors in different locations with two z14 processors. The 

customer has the following requirements: 

Full redundancy within a z14 and in case of loss of one CPC. 

Run 12 z/OS LPARs on each CPC. 

Encryption requirements: 

Some applications need SSL acceleration. 

EP11 must be supported. 

Pervasive Encryption must be supported. 

Which of the following is the minimum hardware needed for each z14 to support the requirements? 

A. 4 zHyperlink Express Ports, 8 Crypto Express 6S Features, CPACF enabled. 

B. 4 Crypto Express 6S Features, CPACF enabled. 

C. 2 TKEs, 6 Crypto Express 6S Features, CPACF enabled. 

D. 8 Crypto Express 6S Features, CPACF enabled. 

Correct Answer: C  

 

QUESTION 3

Which of the following planning considerations is required when ordering the 16U reserved feature? 
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A. Order the number of I/O cables that will be needed. 

B. Plan for the number of rack-mounted disks. 

C. Order a MES for the third of fourth PCle+ I/O drawer. 

D. Plan for the number of power cords required. 

Correct Answer: C 

Reference: https://www-01.ibm.com/common/ssi/ShowDoc.wss?docURL=/common/ssi/rep_ca/8/897/
ENUS118-018/index.htmlandrequest_locale=en 

 

QUESTION 4

What is Pervasive Encryption running z/OS on IBM Z? 

A. Encryption of only data in-flight 

B. Encryption of data in-flight and at-rest 

C. Encryption of all types of data on IBM Z 

D. Encryption of only data at-rest 

Correct Answer: B 

Reference: https://www.ibm.com/support/knowledgecenter/en/SSLTBW_2.3.0/com.ibm.zos.v2r3.izsp100/ whatispe.htm 

 

QUESTION 5

Which of the following best describes the term "RPO"? 

A. The point at which the data is in a consistent state at both the primary and the backup sites. 

B. The point at which the business declares a disaster. 

C. The point at which GDPS software begins automatic failover. 

D. The point at which the age of data at the backup site is acceptable. 

Correct Answer: D 

Reference: https://searchstorage.techtarget.com/feature/What-is-the-difference-between-RPO-and-RTOfrom-a-backup-
perspective 

 

QUESTION 6

What customer records are required to quickly assess system performance in a z/OS environment? 

A. RMF report showing FICON channel statistics 
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B. Network TCP records 

C. SCRT records 

D. SMF type 70 and 113 records 

Correct Answer: D 

 

QUESTION 7

A customer purchased a new z14 3906-M02. They want the ability to add temporary CP capacity on short notice for a
spike in production work. 

What authorization feature should be configured? 

A. OOCoD 

B. CPE 

C. CBU 

D. CDP 

Correct Answer: A 

 

QUESTION 8

A customer starts using z/OS Encryption Readiness Technology (zERT) to gather knowledge about the state of
encrypted network traffic in their system. They also use Sysplex Distributor, so there is TLS-encrypted traffic routed
through the distributor systems to application hosts. The distributor systems also host TLS-encrypted TN3270 services
for the network. 

They started gathering data from the Sysplex Distributor hosts, since encrypted traffic is routed through those systems.
A large number of encrypted TCP sessions seem to be missing from the customer\\'s analysis. 

What does the customer need to do to gather full analysis data? 

A. Start gathering zERT data on all z/OS systems in their environment. 

B. Configure the zERT collection correctly on the Sysplex Distributor hosts. 

C. Move the collection of data to the z/OS application data hosts. 

D. Move the collection of data to the network routers neighboring the z/OS systems. 

Correct Answer: D 

 

QUESTION 9

A z/OS customer is concerned about complying with privacy rules. 
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How is the concept of Pervasive Encryption a potential solution to address the concern? 

A. It is implemented without application or database changes. 

B. It is implemented by only requiring database changes. 

C. It is implemented by requiring application changes. 

D. It is implemented by encrypting only the data at rest. 

Correct Answer: A 

Reference: https://www.ibm.com/downloads/cas/04WL0WAJ 

 

QUESTION 10

A client has a production data center and disaster recovery data center separated by more than 300 km. 

What level of recovery can they achieve by using GDPS/GM (Global Mirror)? 

A. RPO = 0, RTO = 0 

B. RPO = 0, RTO > 0 

C. RPO > 0, RTO = 0 

D. RPO > 0, RTO > 0 

Correct Answer: D 

Reference: https://www.ibm.com/downloads/cas/RJNOXAGZ 
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